QN cJl B3R

REBERINNARGRAE

TIANJIN TENG JI SCIENCE AND TECHNOLOGY DEVELOPMENT CO., LTD.

WWW.TJTJKJ.CN



QNGJI Eﬁ@

PSR A RA M E I AEB RS

TJ-BS-S

EL

Eﬁﬁﬁ

[N.m/rad]
16000
29000
83000

170000
250000
430000
780000

L] 2
i

[N/mm]

45
60
122
160
197
313

EohiRE FER
[kg'm’] [kgl

0.11x10° 0.30
0.30x10° | 0.50
0.87x10° |  1.00
1.60x10° | 140
2.60x10° | 210
6.50x10° | 3.40
9.90x10° | 4.90

20 | [ 1 [ 24 ]

25
30
30
35
40

’ BABYRE ’
HUEHE BREER
4
] [mm]
TJ-BS-058 20 1 £0.6 25000
TJ-BS-06S 40 1 £0.8 20000
TJ-BS-08S 80 1 £1.0 17000
TJ-BS-095 180 1 £1.2 15000
T)-BS-108 250 1 1.4 13000
T)-BS-125 450 1 16 11000
T)-BS-145 800 1 +1.8 9500
| R
L F
S LF

. -

@ 1 j 1 _{_1

i3 -

olz| ST I -H UL Fa 1
= 8 - | o
== ot il =
e
SsI7LiZE M
L

E B/ -“

[ m-ss-0ss | 8 20 [ s6 | 32 | 45
T)-BS-065 7 8 25 68 40 56
T)-BS-08S 10 11 35 82 54 66
T)-BS-095 10 11 38 9 58 68
T)-BS-108 15 16 42 104 68 80
T)-BS-125 18 19 50 126 78 91
T)-BS-145 20 22 60 144 88 102

JREFERRIHREIFFTR

BISRAR :

TJ-BS-09] S-

45

5 4-M5x22
6 10 30 4-M6x25
6 11 38 4-M6x29
8 21 42 4-M8x36
10 16 48 4-M8x36
11 23 54 4-M10x45
12 31 61 4-M12x54

25

H-

30

H

RY %8 :S:BEHR f&:d1-d2

|

NIENGUI Eﬁ\



TENGUI ST BRI B BB R

 EL

&kﬁt‘ﬁa&%
B s aong | e | TR | ST | wume e
N.m min* kg.m? ki

T)-BS-05W | 1iE4u ) £12 | 10000 | 8000 | 21 | 0a4x10® | 040
TJ-BS-06W 40 0.3 1) +1.6 8000 14000 22 0.41x10° 0.70
TJ-BS-08W 80 ’ 0.3 lgm) | 20 | 6800 41000 | 30 1.10x10° 130
TI-BS-09W | 180 0.5 1E40) £24 | 6000 | 85000 | 61 2.20x10° 2.10
TI-BS-10W | 250 0.5 1iEqu ) 2.8 5200 | 125000 80 3.60x10° 2.80
TI-BS-12W | 450 0.6 [ 1pam) 3.2 4400 | 215000 98 | g20x10® | 490
T)-BS-14W | 800 0.7 | 1) +36 | 3800 | 390000 | 156 | 15.00x10° |  7.10

| R

R

&D
&N

|
bd1

— 11
Ll

KHFLEEREM

TJ-BS-05W [ | 5 | | 8-Msx1s
T-BS-06W | 7 | 8 | 25 | 68 | 40 74 | 25 | 12 | 6 | 3 | 24 | 30 | 8-Méxis
T-BS-08W | 10 11 35 | 8 | 54 | 8 | 30 | 12 | 6 | 2 | 28 | 38 | 8-M6x20
T)-BS-09W 10 11 38 94 58 98 30 22 8 12 32 42 8-M8x27
TJ-BS-10W 15 16 42 104 68 110 35 20 10 7 34 48 8-M8x27
T-BS-12w | 18 | 19 | 50 | 126 | 78 127 40 25 11 10 40 54 8-M10x32
T-BS-14W | 20 | 22 | 60 | 144 | 88 144 45 | 30 | 12 15 46 | 61 | 8-M12x38

A RE P BRI HIEAR R

BISiREE :

TJ-BS-09 (W-25/H-35H

]

RY #8:W: WER #&E:dl-d2

QNG.JMQK\



